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The topology of number line.
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This paper deals with the number line. Usually it is considered as one-dimensional object. But if
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to take into account the infinite large and the infinite little numbers, then this line turns out to
be more complex object with infinite self-crossings in some many-dimensional space.
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1 Big and little numbers.

The number line for medium numbers looks like:
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Let us consider the big numbers. The equation for the first big number is:
X+1=X (1)

Let us designate the solution of equation (1) as N1. N1 is very similar with the
number of natural numbers.

And let us form the second big number — N2- so:

N2 =2N (2
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N2> N1 (3)
And N2 is very similar with the number of real numbers.
The third big number we build in the same manner:

N3 =2N2 (4)

N3 > N2 (5)
The fourth big number:

N4 =2N3  (6)

N4 > N3 (7)

Andsoon...

Let us consider the little numbers. The equation for the first little number is:

x+1=1 8)
Let us designate the solution of equation (8) as n1. From (1) we have:
N1-N1=1 9)
N1+«(1-1)=1 (10)
From (8) we have: nl=1-1 (11)
(10) + (11) = (12) nl=1/N1 (12)
Let us form the second little number n2so: n2 =1/N2 (13)
(3) +(12) +(23) = (14) n2 <nl (14)
And n3 = 1/N3 (15)
n3 < n2 (16)
n4 =1/N4 (17)
n4 < n3 (18)
Andsoon ...

So we have now two number lines:
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2 Crossings and self-crossings of positive and negative number
lines.

The definition (11) gives us the equation (19):

-n1=-(1-1)=-1+1=1-1=n1 -n1=n1 (19) So we can draw this:
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The definition (1) gives us the equation (20): o
£ >
N1+1=N1; -N1-1=-N1; -N1=-N1+1;-N1=N1(20) So we can draw: = 'E
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(2)+(13)+(20): n2 = 1/N2 = 1/2Nt = 27N1 = 2N1 = N2 n2=N2 (21) h
E'l.
Now we can draw: £
1]
ne + E
Q
h3 + =
n

1 4 49—
Ay M3 M2

A

R
f

| LR 2T PR



http://www.print-driver.ru/order/?demolabel-ru

We have from (21):
n2 = N2

Let us multiply this equation on -1:
n2=-N2 (22

And we can draw:
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From (4), (21) we have: N3 = 2N2 = ¢"2*(2) = 1 4+ n2 + #n(2) + ---

Let us define M1so: M1 =1+ n2 *£n(2) + ---

(23)

J

Then N3 =M1 (24)

From (15), (23), (24) we have: n3 =1/N3 =1 —n2 « £n(2) + -

Let us define m1so:ml =1—n2 *#n(2) +-

5

. (25)

M " HIATHO-LNTEd A AR

dSEWH g MW -0

)

o oHRIED

=]

o
T
=
(=]
=
=]
X
g
3
i
¥
=
o
LS
=
(]
m
=
=]
-
S
o
R
m
i
=
]
S
x
m
=
=]
=1
r
i
—
1
L
(17}
a
=
3
=



http://www.print-driver.ru/order/?demolabel-ru

)

Then n3 = m1 (26) E EJ
And from (24) and (26) we have: % E
‘N3 =-M1 (27) rI; E

-n3 =-ml (28) E i

Then we can draw:
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It is necessary to raise the arrow from N3 into the third dimension and fly it over
two lines and then descent to the M1 and transfix it. And N4 with arrow will be on
the other side of the plane of drawing. And N3 will coincide with M1. It will be not
only with (N3 and M1), but also with other 3 pairs of points: (n3 and ml), (-N3
and —M1), (-n3 and —m1).
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From (6), (24), (23) : N4 = 2V = 2M1 = 2120+ = 2 4 2 42 « on(2) + Pl
5 3

Let us define M2 so: M2 =2M1=24+2+«n2xn(2)+-- (29) = R
o B

Then N4 =M2 (30) = 5

From (17), (30), (29) : @

ng = — = 27Ml = p=i-n2ein@=- = 1_ 2y 52 4 pn(2) 4 -

N4 2 2

~—~xn2x4n(2) + - (31)

Let us define m2 so: m2 = 27M1 =
Then n4 =m2 (32)
And from (30), (32) we have: -N4 =-M2 (33) -n4 =-m2 (34)

Now we can draw:
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And this process of forming new big, little, medium numbers and of discovery the
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coincidences between them is infinite.

=]

We see now, that so simple number line has very complex topological structure
that require the many-dimensional vector space to represent it fully.
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3 How to travel by the number line, using it's topological structure.

The simplest travel (picture V) is: going from the point (1) to the point [(N1)
(-N1)]. Then stop in this point. And turn your face to the left. Then you go
forward to the point (-1) and (without stopping) to the point [(-n1) (n1)]. Here
you stop and turns to your left. Then you go forward to the point (1). So you
made the simplest travel and returned home.

If in each self-crossing of the line you will choose the middle way or will not
stop at all, you would consider that you are travelling by the strait line
infinitely.

If we take the picture (VIII), you can travel from the point (1) to the point

(M1) and stop there. Then you must look around in hyper-space and find the
point (N3). After that you must oriented your space-craft so, that before you it
was the point (N2) or the point (N4). And then you can turn on your engine
and move from point [(N3) (M1)] to the chosen point ((N2) or (N4)).
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